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—WsSAEXE HMASU=s 2,200,000& 2,200
-R0IHE OCTV 3ld Al S
200,000 =15CH =128 36,000
O3. A& EHIK Xl 29,200
-=S8HFEI ©@S5EHH FX2eld]
10,000, 000& 10,000
-SOICHZAIAEI(CCTV) RRIE=
200,000 »8CH 12 19,200
O4. xt&L | 5,799
-S& 2,558,000 *1CH 2,558
-st= 3,241,000 «1CH 3,241
202 O4Hl 32,580 31,680 900
01 =Wl 4,500 3,600 900
OBEE HMEE+ YRET /)
60,0008 +3% +52 +53] 4,500
02 2 01| 28,080 28,080 0
OFFXISIY SEQ B0l
260,000 9= 12 28,080
301 YptEaazg 78,019 90,800 212,781
09 BAZRRIBLAS 78,019 90,800 A12,781
OZ2A2RRE 78,019
-JleEs 88,000 17 ~12& 17,952
- S| 2,000& «17H*22 x 123 8,976
= PNE=-FSgmE=ja] 2,0003 x17H 22 x 128 8,976
-S4l 5,000& x17H 22 »12& 22,440
-0F2t=Ald| 5,000 «8H«20L x 128 9,600
=28= 140,000& *17H *23] 4,760
-2Et= 140,000& «17H 2,380
=JIEH(OFZ D) 25,0003 *17Z x13] 425
-S4 RaTt SAd=E 2,000,000& 2,000
-S o g=Z=dl 15,0003 *17H»2 510
401 A &HIYL 2048 120,000 140,000 220,000
01 Al&H| 120,000 140,000 A20,000
Ongd Rog=TzIy Ba
10,000,000& * 14! 10,000
Oo==3tet xl 30,000,000& *27H 2 60,000
OS82 ZBHESE &X
40,000,000& *14! 40,000
OsY =FX YXAE(Sete)
5,000, 0002 *24] 10,000
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SN DESED
HH: CADE BH5H(LSLDE/HERS - SRSIIE)
ol CAIDEA (CADEASESIH) (Erol: @2
. _ . e =
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
ORI 267,230 59,301 207,929
801 OlldIbl 267,230 59,301 207,929
01 olldldl 267,230 59,301 207,929
OZ A WSAtS oldlbl 267,230,000& 267,230
COMAE(SCHAE) 261,250 0 261,250
201 LetIH| 51,250 0 51,250
03 AH2SHI 51,250 0 51,250
OSUHE Al 22 2 M
1,500& 3, 0004 4,500
OELAICHH JHOIE MI& 2,000& *3,000% 6,000
OANUHA &8 BadE M
25,000 = 190CH 4,750
ORESHAY SX 849 M
50,0002 x207H 1,000
OYNFIT ot L 2Y7 EXNE S
200, 000& *50H 10,000
OLSoY BRE 7Y (FY, 52, 23E)
30, 000& *300H 9,000
0212t DEZAKX LIS (EN, 2X)
50,000 200K 10,000
Onszeed LI A
20,0002 *100CH +32! 6,000
401 A EHIL 204 210,000 0 210,000
01 Al&HI 210,000 0 210,000
Qusotd ZEXlet &X 300, 000& 2004 60,000
OXtE =M 150,000, 000& » 14 150,000
SS280 =XE 22 (L uS/HEUE - EFSIIE 4,080,675 8,020,675 A 3,940,000
EXEA(CADEANLSESIH) 4,080,675 8,020,675 3,940,000
EXEAL B 28,808 40,248 A11,440
201 Let2d| 24,488 34,488 210,000
01 AtE22(H] 24,488 34,488 A 10,000
Of. 2848 1,800
SFEXBARY L AATASY AR 29
300 *6,0000H 1,800
O5.=2 I 2,688
SERNBANYEA FA22T B4
7,000 «8H «6 2«83 2,688
06.8x= 20,000
SDEASYHIY HAXY AXE
100,000& *10CH 203 20,000
202 O4Hl 4,320 5,760 A 1,440
01 =Wl 4,320 5,760 21,440
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2N D
Hu: g
=
.

el

_ _ _ N E
SA-BH - OA(B) - HRAY - BE2 O &t 04 Gl o S[imE=Fh
OFxFaINY L2EF 01|
60,0002 *32] 42 x63] 4,320
AMUHASEXN DX XS 2,166,804 509,188 1,657,616
401 Al HI LS OHHI 2,166,804 509,188 1,657,616
01 Al£Hl 2,160,000 506,000 1,654,000
ONUBA SYXDN FA=Z HLBM
460,000,000& 14! 460,000
OANUBIA SYXDR EXIBM 1,680,000
-EFSAM 830,000,000 * 14! 830,000
-AEZA 600,000,000& 14! 600,000
—MI| A B A 250,000,000& 14! 250,000
OYE A2 BYIDT 24|
20,000, 0003 14 20,000
03 A2 204bl 6,804 3,188 3,616
ONUBA SN T4 AlLS0)
1,890,000,000& *0.36/100 6,804
SE=XEEY 351,504 963,232 N611,728
201 LEH2HH| 49,344 61,792 A 12,448
01 AtS2t2ibl 49,344 61,792 A 12,448
Os.22H| 1,344
SDYEXT XS 0T B4
7,000& »4B «6 L «83] 1,344
O6.gx&2 48,000
ST NUFNE SAYE
4,000,000 =123 48,000
401 AlEHIL SO 302, 160 901,440 599,280
01 AlZHI 300,000 900,000 A600,000
082S ZYFNY X4
300,000,000 *1J4 £ 300,000
03 A2 204bl 2,160 1,440 720
OBYEXE X4 ANALUY)
300,000,000&*0.72/100 2,160
SCATY BYFUFEY 1,238,560 0 1,238,560
401 AlIEHIZ 208 1,238,560 0 1,238,560
01 A&l 1,200,000 0 1,200,000
O SE=XE =4 1,200,000
—-Al&£Hl 1,200,000, 000& * 14| 1,200,000
Heee (2,000,000,0002 *0) 0
02 2teldl 34,240 0 34,240
OZCRBY IYFIF T4 22|
3,200,000, 00024 *1.07/100 34,240
03 AI&=20HYI 4,320 0 4,320
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PN nSHAD
Zu: 58N0 FHE 22 (+SLDE/HELS - 2RSIIEH
Chel: FXNEAMD (TADEAMNSSLSIA) (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
= = FAG - BES &5 Ofl & 04 ree
O=SEAHE SE=TUHE =4 AIE=20Ud]
1,200,000,000% *0.36/100 4,320
SG =22 77,490 31,239 46,251
201 et 5,510 5,100 410
01 AtS 22l 5,510 5,100 410
O1.d8t=ZH| 4,250
—SIEFIE ok Fa
100, 0002 10K 2 %4 3] 400
-SEFE SFEH| 450,000& *43] 1,800
YREENE MNYR 242
205,000& «10A 2,050
O5.2&Hl 1,260
“TYFXFRL OIV2D2X 24
7,000 x3H+62 x102] 1,260
202 O4Hl 1,620 1,620 0
01 =Wl 1,620 1,620 0
OZg=xa2e dRFA0YI
60,0003 *3H *3 x33] 1,620
207 ALK 20,000 0 20,000
01 A& 20,000 0 20,000
OFXE =5 ZAL 89
20,000,000& * 14! 20,000
401 AIEHIZ 2 50,360 24,519 25,841
01 Al&HI 50,000 24,000 26,000
OBATHE AlM KN4
3,000,000& 1074 £ 30,000
OB FxE FTEE T
20,000,000& *14! 20,000
03 AIER0iH 360 519 A 159
O3Z=XE FHl 50,000,000 *0.72/100 360
ollgl 8l 217,509 6,476,768 26,259,259
801 aildldl 217,509 6,476,768 26,259,259
01 oil8ldl 217,509 6,476,768 A6,259,259
O=XtE At 0ldlbl 217,509,000& 217,509
HY2IHZU(DSHZ W) (IIEH/IIE) 286,977 108,777 178,200
OIHASHH(TANSAIESESIH) 201,852 23,652 178,200
AR (ZAIRSAE) 177,376 0 177,376
101 14| 177,376 0 177,376
02 JIEtAE = 177,376 0 177,376
OFZA(AZHH'OH' 3 : &) 76,561
-HE 16,949,000 45 »80% 54,237
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M DEHHY
M HHIZH (LS D) (JIEH/IIEH
S OIHESIHHI(TAWSAIESESIH) (A :H2)
S E O (EH) - MBAIY - B Of o S Hl R =2
Ol &
—FIRE 4,3743Ax4H x10A| 2Hx12& 2,100
-tEsg 2,112
PN 40,0003 »2H * 123 x80% 768
* JIEHDHS 20,0003 7 123 »80% 1,344
-AZE X 105,000 *4H » 122 «80% 4,032
-ZHg Ayl 130,000& x4 H «12& 6,240
-AJLE A
988,691 *4H »1/226 Al 2t+ 18 Al 2+ 315
“AHEEI|IARY = 69,036,000 *10.9% 7,525
OFISE(ANZ2ZH'OHEZ:=EF) 96,945
- 16,949,000 x5 x80% 67,796
2R 4,374 +«5B x10AI 2t+ 128 2,625
s 3,840
A 40,0003 x5S » 123 x80% 1,920
*IIERIEE 20,0003 x10H » 122 +80% 1,920
-NZE Xl 105,000 5% * 12 x80% 5,040
—Zogaldl 130,000 x5 «12& 7,800
-2 4|
988,691& 4% x1/226 A| 2+ *18A| 2t 315
A2 2 RE S 87,416,000 *10.9% 9,529
OSYFEX ¢ AZEH AR TS| 3,870
=285 130, 0002 9 »23| 2,340
-get=s 130,000 =9 1,170
-2% 5,000& x9H 45
-ctat 35,000& »9H 315
SO SHY (FHEAY) 4,200 4,200 0
203 HRF&H| 4,200 4,200 0
AEVET TS EES I 4,200 4,200 0
OFHSARE XY (H2:27)
350,000& «12& 4,200
= A 012 2 | (E Al DEAES) 20,276 19,452 824
101 2144l 20,276 19,452 824
03 RIHAIZZNHE S 20,276 19,452 824
OSHFTII ROUHZ[AEA AREX(SF) 20,276
=1 29,0102 »1H 313 9,081
-&0= 756,680& * 12 *300% 2,271
-2 E S0l 756,680& * 1 120% 909
—Z AU Z Al 80,000& x1H«12& 960
-JtH & | 50,0003 x1H+12& 600
-—WEE A 30,0003 1 +12& 360
s 60,0003 x 18+ 12& 720
NI 29,0103 x1H 15 436
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